
Name: _________________        Date: __________       Score: ___/13 (mid)  
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

                    = 9,123 - 923 

6,020,090 = 6,000,000 +               + 90 

99 ÷ 33 =  



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

20 – 3.8 = 

1.2 ÷ 100 =  

6/9 + 4/18 = 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 0.5 x 68 =  

1/5 of 5,000 = 

40% of 2 400 = 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

23/5 – 4/5 = 

1/4 + 1/7 = 

12 8 2 9 
   5 2 


